BFCEEEE 6

(8 Je DIFE)
KESE (EK) HEHEE
1 HEE
e A H BE 0 b e A H Bg 5 T
35E (9 cm) g 6 5% (18cm) 7 10%5% (30cm) E
4%5%E (12¢m) 7 75E (2lcm) 7 Bk =
55%E (15cm) 3g 85FE (24cm) g Z D

e koA (. BET o)

2 JEKIERAA

3 JEKITHEEAE K OWEEE OLHT, Flin O E SR LHFZHFEA A

4 EEFWUOTHEOEEA K ORIFMEE O, BEE, 2 H ok e%

il

1R

\

HIEEH

H1 ROEHEOKEZRMNTDZ L,
(1) MERITEAEEE FIROEE ZHMOE L, THKOHEEICET 2#Es) OX#itAEDE
LI EHE=Z T2 L 2T 550
(2) HFEMER (2755 7450180 E)
(3) WHWELGHIHEOWRIEK (2F5H5D 1L E)
(4) VHEGIHEDOFEMX
2 HMOREIIE, AAREESKA4 LTS,



